Ne ApTHUKYI HamMeHOBaHME Kon
1 |3001000-3 OcHOBaHUE 1
2 13002000-2 BubparTop 1
3 ]0700018-50 Bosr M18x50 4
5 1930018 llarBa 4
6 [3003000-2A OCHOBaHME IBUT'ATEJIS 1
7 13004000 arba peryJIuMpOBOUYHAS 4
8 1410012 T'arika 4
10 930012 Maba 4
11 |3005000-1 PamMa 3ammTHasa 1
12 |0700012-30 BoaT M12x30 4
13 1930012 Maba 4
14 |3000001-2 Ieuraresbr HONDA GX160 1
15 |0700010-45 BonT M10x45 4
16 |930010 Maba 4
17 1970010 Maba 8
18 |3006000-2 Pyuka OCHOBHAasg 1
20 |3007000 Koxyx peMHs 1
21 |3008000-2 MKkUB 1
22 |10700008-16 BonT M8x16 2
23 1930008 Maba 2
24 1970008 Maba 2
25 |0700006-20 BonT M8x20 1
26 1930008 Maba 1
28 |0700008-20 BonT M8x20 1
29 3009000 IpyxMrHa 1
30 |3010000 Koneco B cbope 1
31 |3011000-4 PeMmenb 17x800Li1 1

Bubponnnra 6eHBMHOBAaS

MomeJsb
VP125-HK

APpTUKYII
VP125-HK

Juct 1




Ne ApTHUKYI HamMeHOBaHME Kon
32 |3001001-3 OcHOBaHUE 1
33 |3001002-2 Bubporacuresb 4
34 1970012 arnba 4
35 |617012 T'arvika M12 4

Bubponnnra 6eHBMHOBAaS

<Gob>

Mogmesnb APpTUKYII
VP125-HK VP125-HK

Juct 2




74

Ne ApTHUKYI HamMeHOBaHME Kon
40 |3002001-2 Koprnyc ®KCIll. OCHOBHOM 1
41 13002002 Kpellka KoOpHnyca 3SKCI. 1
42 10700008-25 Bonr M10x30 9
43 19300010 Manba 9
44 1119008 MrudT 2
45 1283006 Hommmnuuk 32206 2
46 |987752 CanbHuMk 28x50x10 1
47 13002003 Kprllka TOIMUITHUKA 1
48 |0700008-20 BonT M8x20 9
49 13002004 kB BEIOMBIN 1
50 |3002005 llarBa 1
51 |109608 lnoHka 1
52 |578308 BonT M8x20 1
53 13002006 Kpelllka NOIMWMIIHUKA 2
54 1276006 HomumnHuk 60206 2
55 3002007 XomyT 1
56 |3002008 BonT M10 12
57 13002009 Boat 1
58 854010 Maba 1
59 1617010 Tarika M10 1
61 |3002010-2 Ban skCLEeHTpPHUKa 1
62 |3002011-2 [IpoTuBOBEC 1
63 1894040 KonplLO CTONOPHOE 2
65 (3002013 MrudpT 1
67 3002014 Ban 1
68 (3002015 Kopnyc 1
69 (3002016 Kprmka 1
70 |3002017 Maba 1
71 930005 larBa 1
72 |0700005-16 BonT M5x16 1
73 13002018 Ban 1
74 13002019 KpoHumTeMH 1

Bubponnnra 6eHBMHOBAaS

MomeJsb

VP125-HK

APpTUKYII
VP125-HK

Juct 3




74

Ne ApTHUKYI HamMeHOBaHME Kon
75 345226 Kombuo 2
76 (578308 Bonr M8x25 2
77 13002020 Kprimka 1
78 13002021 [IpokJylamka KPHIIKM 1
79 |700006 BonT M6x22 3
80 930006 Manba 3
81 |0700008-30 Bomr M8x25 4
82 |578614 Bosr M14x20 2
83 3002022 llarBa 2
84 1894042 Kosnbpllo CTONOpPHOE 3
85 13002023 [IpokJjlamka 3
86 13002024 llecTepHsa 3KCLEHTPUKA 1
87 109612 linoHka 1
88 |3002025-2 Brysnka 1
89 [3002026-2 Ban 1
90 |109612 lnouka 1
91 |3002027-2 [IpoTuBOBEC 1
92 1578208 BonT M8x16 4
93 |3002028 Koxyx peMHs 1
94 (276008 HopumnHumuk 16008 2
95 |3002012-1 Kopnyc cuenjeHus 2
96 |3002012-2 llecTepHsa 3KCLEHTPUKA 1
97 |3002012-3 Bosr M8x30 4
98 617008 Tarika M8 4
151 |3002031 [IpokJylamka 1
152 |3002032 [IpokJylamka 1

Bubponnnra 6eHBMHOBAaS

Mogmesnb APpTUKYII
VP125-HK VP125-HK

Juct 4




26

48

Ne ApTHUKYI HamMeHOBaHME Kon
105 |0578012-60 BonT M12x60 2
106 |950012 Maiba 2
107 |3006010 Bryika 2
108 |3006012 BryJsika HeMJIoHOBada 2
109 |3006400-2 Bubporacuresb PYyKOSTKMU 2
110 |0578008-20 BoaT M8x20 4
111950008 llarBa 4
112 |3006200-1 Bubporacuresb 1
116 |617320 Tarika M20 2
117 3006004 kg7 ok 1
118 |3006005 [IpyxMHa 1
119 |3006007 Ban 1
120 |3006009 Pyuka 1
121 |0701006-45 BonT M6x45 3
122 |859006 aba M6 3
123 |3006006-3 Prluar peeepca 1
124 |10701008-30 BonT M8x30 2
125 (950008 Maba 2
126 |AR680805001 Priuar rasza 1
127 |{0701008-25 BonT M8x25 2
129 /950008 Maba 2
130 |3006500-2 Pyuka 1
131 |{0701008-20 BonT M8x20 3
132 /859008 Maba 3
133 |3006601 3axmum 3
134 |3006013 lnouka 1
143 |3006014-2 Crorika 1
144 |3006015-3A Tpoc peBepca 1
148 |[A3006017-1 Tpoc raszsa 1
1531930008 Manba 2
154 |3006018 BTyJsika JacTUMKOBAS 2

Bubponnnra 6eHBMHOBAaS

MomeJsb
VP125-HK

APpTUKYII
VP125-HK

JucT 5




